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Note:	 The question paper is divided into three sections A, B and C. Write 
answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 1 = 10
(Very Short Answer Questions (Compulsory))

Note:	 Answer all questions. As per the nature of the question, you 
delimit your answer in one word, one sentence or maximum up 
to 30 words. Each question carries 1 mark.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ (A{Zdm¶©))

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
1 A§H$ H$m h¡&

1)	 (i)	 What is radius ratio?
		  {ÌÁ¶m AZwnmV {H$go H$hVo h¡?
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	 (ii)	 Define the lattice energy
		  OmbH$ D$Om© H$s n[a^mfm Xr{OE&

	 (iii)	 What are election deficient compounds.
		  Bbo³Q´>moZ Ý¶yZ ¶m¡{JH$ ³¶m hmoVo h¡?

	 (iv)	 Define dipole moment.
		  {ÛY«wd AmKyU© H$s n[a^mfm ~VmB¶|&

	 (v)	 What is the defination of Inter-halozen compounds & give an 
example of it.

		  AÝVa h¡bmoOZ ¶m¡{JH$ H$s n[a^mfm Ed§ EH$ CXmhaU Xr{OE&

	 (vi)	 Give the chemical formula of hydrolith.
		  hmBS´>mobrW H$m amgm¶{ZH$ gyÌ {b{IE&

	 (vii)	The solution of Alkali metals in liquid ammonia is colourfull. 
Why?

		  jma YmVwAm| Ho$ Ðd A‘mo{Z¶m ‘o {db¶Z a§JrZ hmoVo h¡& ³¶m|?

	 (viii)	Give the structure of diborane.
		  S>mB~moaoZ H$s g§aMZm ~VmB¶o&

	 (ix)	 Dipole moment of NH3 is greater than NF3. Why?
		  NH3  {ÛY«wd AmKyU© NF3 H$s VwbZm ‘| ~hþV A{YH$ hmoVm h¡& ³¶m|?

	 (x)	 What are silicates?
		  {g{bHo$Q> ³¶m hmoVo h¡?

	 Section - B	 4 × 5 = 20
(Short Answer Type Questions)

Note:	 Answer any four questions. Each answer should be delimited 
in maximum upto 200 words. Each question carries 5 marks.
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(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$ go 
A{YH$ 200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 5 A§H$m| H$m h¡&

2)	 Write the defination of hydrogen bond & give its types.
	 hmBS´>moOZ ~§Y H$s n[a^mfm {b{IE Ed§ BgHo$ àH$ma ~VmB¶|&

3)	 What is carbide? Explain the types of carbide.
	 H$m~m}BS> ³¶m hmoVo h¡ VWm {H$VZo àH$ma Ho$ hmoVo h¡, g‘PmB¶o&

4)	 Explain VSEPR theory.
	 VSEPR {gÕmÝV H$mo g‘PmB¶o&

5)	 Give short note on Alkali & Aryl compounds of S-block elements.
	 S-block VËdm| Ho$ Eb{H$br VWm Eo[ab ¶m¡{JH$m| na g§{jßV {Q>ßnUr {bImo&

6)	 Explaing bonding & structures of silicates.
	 {g{bHo$Q>m| ‘| ~§YZ VWm g§MaZm g‘PmB¶|&

7)	 Give the structure & bonding in XeO4 & XeF6.
	 XeO4 VWm XeF6  ‘| ~§YZ Ed§ g§aMZm {b{IE&

8)	 Explain the Fajan rule.
	 ’$mOmÝg Ho$ {Z¶‘ H$mo g‘PmB¶|&

9)	 Explain shockty defect in Ionic crystal.
	 Am¶{ZH$ {H«$ñQ>bmo ‘| emH$Q>r Ìw{Q> g‘PmB¶o&

	 Section - C	 2 × 10 = 20
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your answer in 
maximum up to 500 words. Each question carries 10 marks.
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(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& AmnH$mo AnZo CÎma H$mo A{YH$ go 
A{YH$ 500 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡& 

10)	 Define Hybridization? Give the types of hybridization. Explain 
structure of following compounds to hybridization.

	 ,l lIC IC2 4
- -  and IF5

	 g§H$aU H$mo n[a^m{fV H$s{OE& g§H$aU Ho$ {d{^ÝZ àH$ma g‘PmB¶|& g§H$aU 
Ho$ AmYma na {ZåZ H$s g§aMZm H$m dU©Z H$s{OE&

	 ,l lIC IC2 4
- -  and IF5

11)	 Explain the following:
	 {ZåZ H$mo g‘PmB¶o&
	 (i)	 Why He2 molecule is not formed but Ne2

+ is formed
		  He2  AUw Zht ~ZVm O~{H$ Ne2

+  ~ZVm h¡& ³¶mo?
	 (ii)	 Explain the properties & structure of Borazone.
		  ~moamOmoZ Ho$ JwU Ed§ g§aMZm H$s ì¶m»¶m H$a|&
	 (iii)	 Give the method of formation of Inter halozen compound.
		  AÝVa h¡bmoOZ ¶m¡{JH$ ~ZmZo H$s {d{Y¶m± {b{I¶o&
	 (iv)	 CCl4 is not hydrolysed as sidu, why.
		  CCl4  H$m sidu  H$s Vah Ob AnKQ>Z Zht hmoVm ³¶m|?

12)	 Explain by MOT
	 N2 , CO & NO+ Molecules
	 AZwH$jH$ {gÕmÝV Ho$ AmYma na g‘PmAm|&
	 N2, CO  VWm NO+ AUw

13)	 Explain conductance of metals according to band theory.
	 ~¢S> {gÕmÝV Ho$ AmYma na YmVwAm| H$s MmbH$Vm H$s AdYmaUm g‘PmBE&


